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3. [RIBEAEB B 3 44
(1) BMIEZ, TUEEAMES 4 o0k HERIR M SRS,
E5: B i BB T SCRNR L BE X B EAR

(2) (R LR, AT LUALHE RUR 301008 ST 008 303, I (R B R 21 (
English for Academic Purposes ) §9§521;

(3) BEEE LR B & 3 K E MTEE.,

4. FITEREAREE S AUE SRR A FRK GEREIK . R HEE R R
U, i B IO & TR B 45 > B R R RE B —E R HA,

Riun kAR AK CET-6)DGHMASIR

ANERBEA A EAE 4 BOCENPIE. BREA S HkFE, X
MR T 2, HLY 498 4 K B0TT 43 0 ok 38, BP 4 358 3 (8] 4 ( Global
Question ) 1 Jy B BY ) 1 ( Local Question ). Local Question — ¥ R = H N
% :Subject Matter, Attitude/Tone; Local Question # % ; Supporting Details, In-
ference, Vocabulary. VAR, B ATH AR LA0H & B BIESE 085 R
RS X e RTREAE B A A Y K BOHE SRR, HE TR A BB A TR0 43
PR RE YIS

L. B RRERPRIL e

1L ( Vocabulary ) £ 75 25 ) 14 SEAR I X PR BB — 30, R H AT
LR KA T AT SR BD, AN (] 1 A 3 R o — G F i A1 4 A R ST I L A
RETETEZOR X SCE Y B4 i) BTS20 TSR 008 i B 4518
B BEREREFREEMARAMEN G ol B, iz ol E e o
P U T Sk O RS, SR PR AR o ) I T RR B B R T R R A
JURk:

(1} According to the author, the word “. .. " means

(2) Which of the following is nearest in meaning {o *... "7
(3)The term “.. "in paragraph. .. can be best replaced by . . ..
(4)What’ s the meaning of “... "in line . . . of paragraph. ... ?
(5) As used in the line . .. , the word “. .. "refers to

— R , TE SR 32 o gt DR R S IO AT 0 A MR S o AL
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Example

In the 1950s, the pioneers of artificial intelligence (Al) predicted that, by
the end of this century, computers would be conversing with us at work and robots
would be performing our housework. But as useful as computers are, they’ re no-
where close to achieving anything remotely resembling these early aspirations for
humanlike behavior. Never mind something as complex as conversation: the most
powerful computers struggle to reliably recognize the shape of an object, the most
elementary of tasks for a ten — month - old kid.

A growing group of Al researchers think they know where the field went wrong
. The problem, the scientists say, is that Al has been trying to separate the high-
est, most abstract levels of thought, like language and mathematics, and to dupli-
cate them with logical, step - by - step programs. A new movement in Al, on the
other hand, takes a closer look at the more roundabout way in which nature came
up with intelligence. Many of these researchers study evolution and natural adapta-
tion instead of formal logic and conventional computer programs. Rather than digit-
al computers and transistors, some want to work with brain cells and proteins . The

results of these early efforts are as promising as they are peculiar, and the new na-

ture — based Al movement is slowly but surely moving to the forefront of the field.
Imitating the brain’ s neural (#1#5#)) network is a huge step in the right di-
rection, says computer scientist and biophysicist Michael Conrad, but it still mis-
ses an important aspect of natural intelligence. “People end to treat the brain as if
it were made up of color - coded transistors” , he explains, “but it’ s not simply a
clever network of switches. There are lots of important things going on inside the
brain cells themselves. " Specifically, Conrad believes that many of the brain’s
capabilities stem from the pattern-recognition proficiency of the individual mole-
cules that make up each brain cell. The best way to build an antificially intelligent
device, he claims, would be to build it around the same sort of molecular skills.
Right now, the option that conventional computers and software are funda-

mentally incapable of matching the processes that take place in the brain remains

controversial. But if it proves true, then the efforts of Conrad and his fellow Al
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rebels could turn out to be the only game in town.

Question: Which of the following is closest in meaning to the phrase “the only
game in town” ( Para. 4)7

A) The only approach to building an artificially intelligent computer

B) The only way for them to win a prize in artificial intelligence research

C) The only area worth studying in computer science

D) The only game they would like to play in town

AR ) ORI 36 o 1) ) P A o S RE I A 4 S A game
— WA IR ETE TN R R P RITH S REERHB Y, D BE
AT R, A ATREE B R, B EAATER R L S XA R HaT, ]
HERR . FHIEBHRLT C,C HRMEN R, BEE, WA X FEBiTie
B kMg S, B AR E T SCHIRHA kg RS

2. SRR hOER R

W) 2 B ) B U — RO R 1A 0o S b R — [ R S (A
tude) @ SCHI I (Tone ) | SCFERY ) 4b (Source ) B X} 3C A1 5 B8 N & 1) )
Wi,

K FASE KA (Attitude/ Tone ) B [ % 0 MBS SRR ET . -8
A £E IR SO 1 G 25T L % 08K (objective ) o 5137 (] ( neutral ) ; i 25
WCH RS A 2 RS ER SR 8 R wie .

(1) positive( BURAY)

(2) negative( {1k )

(3) neutral( P 7))

(4) approval (B

(5) disapproval ( ~EFRLAY)

(6) indifferent( IR .0 )

(7) sarcastic( 5] #))

(8) eritical ( #LIERY)

(9) optimistic( SR UEHY)

(10) pessimistic ( FEIE )

() REL ) JL AR 0]y

(1)What’ s the writer’s attitude 10 ., .

{2) What’ s the tone of the passage?



(3)The author’s view is

(4)The writer’ s attitude of this passage is apparently

(5) The author suggests that

(6) According 10 author ____ .

HorE S EE WA, CER R, WA B SCEP L EE U R
ot A — ) R ) S RO, T B B AP A K AR X S TR, B SERE
T TR R B R A P R OB ] 0 KON O & R AR W S8 i
iC, AR Bhid 5

MR i R XEAG EEN AN E AT AR E T, AT
LR RAT I

Example ;

Some pessimistic experts feel that the automobile is bound to fall into disuse.
They see a day in the not - too - distant future when all autos will be abandoned
and allowed to rust. Other authorities, however, think the auto is here to stay.
" They hold that the car will remain a leading means of urban travel in the foresee-
able future,

The motorcar will undoubtedly change significantly over the next 30 years. It
should become smaller, safer, and more economical, and should not be powered

by the gasoline engine. The car of the future should be far more pollution - free

than present types. Regardless of its power source, the auto in the future will still
be the main problem in urban traffic congestion ($H#%). One proposed solution to
this problem is the automated highway system.

When the auto enters the highway system, a retractable ( A[ {145 /) arm will
drop from the auto and make contact with a rail, which is similar to those powering
subway trains electrically.

Once attached to the rail, the car will become electrically powered from the
system, and control of the vehicle will pass to a central computer. The computer
will then monitor all of the car’ s movements.

The driver will use a telephone to dial instructions about his destination into
the system. The computer will calculate the best route, and reserve space for the
car all the way to the correct exit from the highway. The driver will then be free to
relax and wait for the buzzer (MEME3E) that will warn him of his coming exit. It is
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~ estimated that an automated highway will be able to handle 10,000 vehicles per
hour, compared with the 1,500 to 2,000 vehicles that can be carried by a present
- day highway.
Question; What is the author’ s attitude toward the {uture of autos?
A) Enthusiastic.
B) Pessimistic.
C) Optimistic.
D) Cautious.

XR—ESEE, R, EE S X — WS EHAT 758
By (R AT AR TSR . M EME A — A
ERNNRERKZEE S " BTN E Bl ] LUk ey s 15 %
X AR IRF RS

3. ARMXENhLBE

Subject Matier(SM 1.0 B81) B AE % 46 X G B AGS M E BT, 2T
FEXMBL . EELE T 1% 13 1L % F Supporting Details S ¥ B+ 0x1%
B, B, B F BT 2 N RGN EEE . BBRAGHKE
AFBRGE X KM % 5 B2 8 . SR QT4 M 5 3 0 o 4 4K
BF, POMATE AR E LK DS iR B SR, R TR
F B A RE AR H

FHxd SM [ R, 1i7 5 FH AR 0 (8 18 15 ( Skimming ) M 2 3 BB X ZT 1 5
KR BT 82 v B b D RS i B PSR i B AR 8 kg,
XEMTIER MR RBRERER O HB BRI RS, A EEsa s
PO (SM)

K AR L) Ry A

(1) What is the main idea ( subject) of this passage ?

(2) What does this passage mainly ( primarily ) concerned ?

(3) The main theme of this passage is
(4) The main point of the pas-age is
(5) Which of the following is the hest title for the passage 7
(6) The title that best expresses the theme of the passage is
(7) On which of the following subject would the passage most likely be found

in a textbook 7



(8) The purpose of the writer in writing this passage .

(9) Which of the following besi describes the passage as a whole ?

Example 1 ;

Many of us believe that person’ s mind becomes less active as he grows older.
But this is not true, according to Dr. Lissy F. Jarvik, professor of psychiatry at
the University of California, Los Angeles, and a board member of the New Center
for Aging at the Veterans hospital. She has studied the mental functioning of aging
persons for several years. For example, one of her studies concerns 136 pairs of i-
dentical twins, who were first examined when they were already 60 years old. As
Dr. Jarvik continued the study of the twins into their 70s and 80s, their minds did
not generally decline as was expected.

However, there was some decline in their psycho — motor speed. This means
that it took them longer to accomplish mental tasks than it used to. But when speed
was not a factor, they lost very little intellectual ability over the years. In general,
Dr. Jarvik’s studies have shown that there is no decline in knowledge or reasoning

ability. This is true not only into the 30s and 40s, but also into the 60s and 70s as

well. As for learning new things, and ability to remember, studies by Dr, Jarvik
and others show that the old are equal to the young. It is true that older people
themselves often complain that their memory is not as good as it once was. Howev-
er, much of what we call “loss of memory " is not that at all. There usually was
incomplete learning in the first place. For example, the older person perhaps had
trouble hearing, or poor vision, or inattention, or was trying to learn the new thing
at too fast a pace.

In the cases where the older person’ s mind really seems to decay, it is not
necessarily a sign of decay due to old age or “senility”. Often it is simply a sign of
a depressed emotional state. This depression usually can be counteracted by coun-
seling, therapy with a psychologist, or medications which fight depression. In A-
merican society, when an older person loses something, we tend to call him or her
“senile”. Bul notice that when a younger person loses something, he does not
blame it on senility or loss of memory. He finds some other excuse!

Question; What is the best title for the passage?
A) Research Reveals Old Myths About Mind’ s Decline
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B) Old Age Accelerates Mind’ s Decline

C) A New Psychiatric Theory Saves Older Persons
D) How To Keep Mentally Active
AR ) B R i R0 B AR R BRI ( Skimming ) B A7) HE X B — A
BRBEANBE"ONTE. B -BRRNEXTIFEAMME, LUK Lissy F.
Jarvik AT MMBF L4 R BB )G Jarvik 1§ L8k SE3T1T] 70 £ % F1 80
& % MIEHEZ TR S, (160 AR B0 SUR B UM AR T RE . FIL2R
FFRYF Jarvik 18+ 07 HE B L BT A S IR -
4. P BRI ER ORI N A Y L ) R
TP [A]RE 2 X T Supporting Details 25/ [5) 3% , i# #f Skimming $% ! ¥ &8
G N — S FEERRA R PN EEEE SR ERREFTHY, £
I 2 st 3 (LA , 13 3R FH 2 3R 8 ( Scanning) , R A ix 46 BLAK P %5 ( Details ) 12 Fil
KU GEIE R A X E RO, KB E H WH - "R R,
who, what, when, where, why } how S50, XULMEIMEXERRHXE
R SR ), TR AR g%, Bk, E B ERiN g AERE T,

. BRI 00 7% B8 5 S 5 0 4 00 SR U

SrIRRR IR R LR E IERE R,

SRR X BAMTVEIRRERT S R R, MW REEHE,
Bf] BB KRB A B S A AR A I RS
W7, BN I AR R M 2R R, S SR A I RR A B AR R b i
HEERCAMIMEL FR AR HOS. B2, B EREdH
CX AN EW T B AN AR R, — B R EAE, R
R L AT K

AR R A LUF UM
(1) Which of the following is NOT true according to the information in the pas-

sage?
(2) Which of the following is mentioned in the passage?
(3) What is the example of . . . as described in the passage?
(4) The author mentions all of the following except . . .
(5) The reason for ... is
{6) The author states that . ..
(7) According to the passage, when (where, why, how, who, etc. ) ...



